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uksV& lHkh iz'u gy dhft;sA

Attempt all questions.

[k.M (v)

(Section A)

1. Operating System (O.S.) D;k gS \ bldh vko';drk D;ksa iM+rh gS \ ,d mnkgj.k ds lkFk

Process ,oa Program esa vUrj le>kb,A 13/16

What is an Operating System (O.S.) ? Why it is needed ? Explain the difference

between Process and Program with an example.

2. mi;qDr mnkgj.k nsrs gq,] fuEu VElZ esa vUrj dhft, %  13/17

(i) deadlock prevention

(ii) deadlock avoidance ,oa

(iii) deadlock detection.

Giving suitable example, differentiate following terms :

(i) deadlock prevention

(ii) deadlock avoidance and

(iii) deadlock detection.

3. Computer Network ls vki D;k le>rs gSa \ OSI ,oa TCP/IP eksMsYl dh dk;Ziz.kkyh

laf{kIr esa le>kb,A 14/17

What do you understand by Computer Network ? Briefly explain working of

OSI and TCP/IP models.

P.T.O.
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[k.M (c)

(Section B)

4. (a) Do Loop D;k gS \ ;g While Loop ls dSls fHkUu gS \ 6½/8

What is Do Loop ? How it is differ from the While Loop ?

(b) Java Virtual Machine D;k gS \ ;g dSls dke djrh gS \ 6½/8

What is Java Virtual Machine and how it works ?

5. (a) Interfaces D;k gS \ ge interfaces dks implement vkSj extend dSls djrs gSa \

6½/8½

What are Interfaces ? How do we implement and extend an interface ?

(b) Class D;k gS \ ge class esa variables vkSj methods dks dSls tksM+rs gSa \ 6½/8½

What is Class ? How do we add variables and methods in class ?

6. (a) Applet esa parameters dSls Hkstrs gSa \ mnkgj.k ds lkFk le>kb,A 7/8½

How to pass parameters to an Applet ? Explain with an example.

(b) Applet life cycle dks foLrkjiwoZd le>kb,A 7/8½

Discuss the Applet life cycle in detail.
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